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ADMIT Ticket ~ A

Home Runs for Ted Williams ~ First 10 Seasons of His Career with the Boston Red Sox
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                                                                                         *Data from http://baseballhall.org/hof/williams-ted

What are the 10 values represented in this stem-and-leaf plot?

Is there a mode? If so, what is it?

What is the median for this data set?

---------------------------------------------------------------------------------

ADMIT Ticket ~ B

Darren played Wizards of the Maze computer game. The chart below shows the level he was able to reach in ten different games. Create a stem-and-leaf plot to represent the data. 
	game
	level

	1
	5

	2
	10

	3
	18

	4
	18

	5
	8

	6
	5

	7
	16

	8
	19

	9
	11

	10
	20


What is one observation you can make from looking at the shape of the data in the stem-and-leaf plot you constructed?

Answer KEY

ADMIT Ticket ~ A

Home Runs for Ted Williams ~ First 10 Seasons of His Career with the Boston Red Sox
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                                                                                         *Data from http://baseballhall.org/hof/williams-ted

What are the 10 values represented in this stem-and-leaf plot?

23, 25, 28, 30, 31, 32, 36, 37, 38, 43
Is there a mode? If so, what is it?

No, no value is repeated in the data set.

What is the median for this data set?


23, 25, 28, 30, 31, 32, 36, 37, 38, 43      31 + 32 = 63 ( 2 = 31.5 home runs
---------------------------------------------------------------------------------

Answer KEY

ADMIT Ticket ~ B

Darren played Wizards of the Maze computer game. The chart below shows the level he was able to reach in ten different games. Create a stem-and-leaf plot to represent the data. 

	game
	level

	1
	5

	2
	10

	3
	18

	4
	18

	5
	8

	6
	5

	 7
	16

	8
	19

	9
	11

	10
	20


What is one observation you can make from looking at the shape of the data in the stem-and-leaf plot you constructed? Answers will vary. Possible answers might include:
*The mode is 18. There is ten pieces of data in the stem-and-leaf plot. There is a gap in data between 11 and 16. The data is symmetric around the mean. The mean is 13.
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